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Note

Note.

- ECONOMICS
U EIEY ]
PAPER—III
W o111
This paper has two parts A and B. All questlons are compulsory
B HAUAHD A RQeUdL B A o' D, oL Ul §Ud B,
Part A
[Qeua
: This part has ten short essay type questions of 16 marks each to be answered
_in about three hundred words.
w Reuori €3 ay Feitucis Wl B, UAS Ul 15 YR S Bl Gu2
<G 300 X TREXTAN Y
“There are several goals other than that of profit max1m1sat10n that a firm

may pursue.” Discuss. \
‘s UL, Aslrl veuHlseL Rl ey s Adlg g s Al
8.7 yal.
Or

»Yql
“Price effect is the combination of income effect and substitution effect.” Explain
with the help of diagrams.
“lEHd AR, 2S5 A AA 214 2RA] Hly @ " gl weedll aMondl.

3
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2. Explain ﬁnlly Milton-Friedman's views on the Quant,i_ty_*l‘hgbry of Money.
wikl wRuRucws Rigid 200 Reew-glsda- ddedl Rad wiamdl.
| | LT
. Critically examine Flemming-}\dundell open €€6Romy model.
saloLy-Serll [Agn At WIRA faiets A awiai,
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3. Explain Schumpeter’s concept of innovation. What role does it play in the
- process of economic development ? ‘
‘o nade A galleasdl v wiedl. 2ufls Qs wiEun Q ol ewdL e
9 ?
Or
Y4l .
How does external trade promote and prevent economic development ?
RRe caw? 58 A s RsrA MR 53 8 w2125 & 7
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4.  Critically examine the role of Indian Finance Commissions in allocating
resources between Centre and States.
Yeg 2\ 2L 423 ~eigly wEril siaarl s cudly i dl-l oyl
Astaws A duRil. |

Or
| | wYal | |

“Number of economists look upon Public Debt as no burden on future
generation.” Do you agree ? Why ? - ‘
cga wefaraflell M8 tan oAl W UL oo Ly R Al g
wwWA dd Aud ol 7w e ? '
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5.  Trace the static and dynamic effects of Customs Union.
s el ARs 21 ARfla »ul agldl,
‘ - Or
: €AYl
What issues were debated under Uruguay round ?
(3394 AGSHL sul Hewll AW sct ?
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6.  Highlight the limitations Reserve Bank of India faces in implementing monetary

policy. - . '
qeifia ARl vl ouady fad dws & walerd-d andl 82 8 q
Yl :

" Or

wyal "

Review the performance of Regional Rural Banks in India.
olddi welds ;m{ltat Qi sl wlan 530
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7. Critically examine Sargent-Florence theory of industrial Location.
lelBls wo 2wl AoF2-selin Rgidn dsiens AQ awwil.
Or )
AYql .
Discuss various concepts of industrial productivity. What reasons can you
advance for low industrial productivity in India ?
Bl Gewesdinl QAL vyidl 2al. eladul 0l Gewlesdr W2 dft su siel
2% s3 usi ol ?
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8. What are the stages mentioned in the theory of demographic transition ?
'~ Where does India stand in the context of this theory ?
el [@vus AsiRAL RigidHi sul dosstzill Gedu, sami 20 @ 7 21 Rigid-u
Aee{ui oL e sui o ?
- | ' Or
AYql
Explain fully the relationship between economic development and
environmental degradation.
s Rsat xR wulaely xadl a2l Aol AR AnAdl.
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9. Review the performance of Green Revolution in Indian Economy.
cuclly eddanl ‘wRutll sil’ - via-l wflan s,
Or
Y4l _
Enumerate regional disparities which have emerged in Indian Agriculture.
ccdly M Geatdell wls Al qeldl,
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10. What is meant by regression coefficient ? Given the following data on supply
of a commodity and price of a commodity :
“())  Estimate linear supply function;
(i) Find out price elasticity of supply when price is Rs. 20 per unit;
(iiiy Interpret your results. .
Supply of Commodity (kg) : - 10 20 30 40 50 60 70 .

Price (Rs.) : 6 10 15 20 25 30 35
(Mud 2Aeiais Ned g 7 argrl yrast A adl Bud 20 A wuldear 2isst
Yl :

~

G ¥3Iw yas Ry il
G) U sy €ls BBud 3l 20 Slu cu yrasidl yey wlade i),
Gi) Ll uRReusid sdued s3.

axgeil yrasi (Bsud) : 10 20 30 40 50 60 170
B (3u.) : 5 10 15 20 25 30 35
Or
YL
Solve the following Linear Programming problem :
Maximise : Z = 3X + 4Y
Subject to : X+2Y< 6
3X+Y<9
X20Y=>0

A 2l YAul duylomi-l ax Gl :
Z = 38X + 4Y  uenlsa@ s 3 2wl adl w wwd é
X+2Y<6
3X+Y<9
X>0,Y>0
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Part B
[Qeua of

‘This part has only one question of 40 marks to be answered in about
00 words. ‘

1} [gmami WA As Uil G @Ol €00 UL W, F+L o
oo, —
'onsider the Keynesian Model
’ C; = a + BY, + Uy

Y, =C + 2
Ibtain the estimation of MPC with the help of Indirect Least Squares method
nd Two-stage Least Squares method. Comment on your results.
Brellunt {ide

Ct =0 + BYt + Uy

Y, = C; + Z, :
12 408 yridn o] gl » [Baoiss, a0l ygla (2 SLS) -l ueeell
luid quaigl qRid 20w 530, dmizl WRawed 4l

Or
AYql .
efine various types of technical progress—Labour Saving, Capital Saving and -
eutral Technical progress. Draw diagrams wherever necessary.,
L8 usta as4l Rsi—s S, Y8l oAc 24N dee dslgl Rsiuell vy
Wil ol %33 Qu Al wush aRL,
, . Or
2Ydl :
'hat is international capital mobility ? How have free capital movements
d to crisis ridden situation in many parts of the developing world ?
HidAlY 4el aRflady’ N2d g ? 58 A oRede Yeln 5129 Qs
Al 8Rl eudlni s2lsdl ¥l YRRARM AL 4 @ 7 N
, . Or

AYql \ \
escribe the conditions and problems of agricultural labourers in our country.
hat measures are taken by the Government to improve their conditions ?
Puel Bl Wil WRRAR A aMwui aeldl. qud] RaR Jaral 12
1T su waal lai B 7 ’

‘ Or

wYql :
efine Globalization and distinguish it from Liberalization. How are these
ocesses_affecting Indian industrial sector ? \
flseell vy A 219 Gerlsradl Al Ae e 531, euadly 2] elBis
W & BRI 5 A B s W D 7
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